






RATIO AND PROPORTION – PDF LINK  IN DESCRIPTION

If a : b = 7 : 9 and b : c =15 : 7, then what is a : c? 

(1) 5 : 3 (2) 3 : 5 (3) 7 : 21 (4) 7 : 15
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if A:B+C=4:5: and B:A+C=5:7 then A:B:C=?
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12 is the mean proportional of n and 36. Find n.
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Find the third proportional of 18 and 24?
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Find the fourth proportional of 6, 5, 21? 
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Rs.15500 divided into three parts proportional to
𝟏

𝟐
:
𝟏

𝟑
:
𝟏

𝟓
are respectively?

(a) Rs.7500, Rs.5000, Rs.3000
(b) Rs.5000, Rs.7500, Rs.3000
(c) Rs.3000, Rs.5000, Rs.7500
(d) NOT

15500 रु. को तीन भागो में विभाजित ककया िाता है, िो क्रमश: 𝟏

𝟐
:
𝟏

𝟑
:
𝟏

𝟓
के

समानुपाततक है?
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Rs.5200 was to be divided among A, B and C in the ratio of 
𝟏

𝟑
:
𝟏

𝟒
:
𝟏

𝟐
, but by mistake is 

was divided in the ratio 7:4:15. The amount in excess received by C was.
(a) Rs.550
(b) Rs.600
(c) Rs.450
(d) Rs.750

5200 रु. को A, B और C के बीच 𝟏
𝟑
:
𝟏

𝟒
:
𝟏

𝟐
के अनुपात में विभाजित ककया िाना था, लेककन 

गलती से 7:4:15 के अनुपात में विभाजित कर दिया िाता है।  C द्िारा प्राप्त अततररक्त 
राशश है 
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A sum of money is distributed among A, B & C such that B gets 12.5% more than A, But 25% 
more than C. If A & C is Rs.5700. Find the difference of A & C.
(a) Rs.200
(b) Rs.300
(c) Rs.400
(d) Rs.500
एक धनराशश A,B और C  के बीच इस प्रकार विभाजित की िाती है कक B  को A से 12.5% अधधक 
प्राप्त होते है लेककन C से 25% अधधक  प्राप्त होते है। यदि A और C  का दहस्सा 5700 रु.हैं तो A 
और C के  की राशश के मध्य अंतर ज्ञात कीजिए। 
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A sum of money is distributed among A,B and C such that B gets 10% less than A, but 20% less 

than C and D gets 𝟑𝟑
𝟏

𝟑
% more than C. Then find D is that percent more than A.

(a) 45%
(b) 50%
(c) 60%
(d) NOT
एक धनराशश को A,B और C में इस प्रकार विभाजित ककया िाता हैं कक B  को A से 10% कम 
राशश प्राप्त होती है, पर C से 20% कम प्राप्त होता है और D  को C से 33 1/3% अधधक प्राप्त 
होता है, तो D को A से ककतने प्रततशत अधधक राशश प्राप्त होती है?
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A person distributes his pen among four friend A,B,C and D in the ratio 
𝟏

𝟑
:
𝟏

𝟒
:
𝟏

𝟓
:
𝟏

𝟔
. What is the 

minimum number of pens that the person should have?
(a) 55
(b) 57
(c) 58
(d) 60

एक व्यजक्त अपने पेन को चार िोस्त A,B,C और D में 𝟏
𝟑
:
𝟏

𝟒
:
𝟏

𝟓
:
𝟏

𝟔
के अनुपात से बांटता है। ककस 

व्यजक्त के पास पेन की न्यूनतम सखं्या होगी?
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Rs.7200 is distributed among A,B & C such that A get 20% of B and C together. But gets 20%
less than A and C together then how much amount C will get.
(a) Rs.2500
(b) Rs.2600
(c) Rs.2700
(d) Rs.2800
A,B और C में 7200 रु. इस प्रकार विभाजित ककए िाते हैं कक A को B और C का शमलाकर 20%
प्राप्त होता हैं। लेककन A और C का शमलाकर 20% कम प्राप्त होता है। तो C ककतनी राशश प्राप्त
होगी?
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A bag contains 1 rupees, 50-paise and 25-paise coins in the ratio 1:4:4. if the total amount in 
the bag is Rs.840. find the number of coins of 25-paise.
(a) 800
(b) 840
(c) 1200
(d) 1350
एक बैग में 1रु.,  50पैसे और 25 पैसे के शसक्के 1: 4: 4 के अनुपात में हैं। यदि बैग में कुल 
840 रु. है, तो 25-पैसे के शसक्कों की सखं्या ज्ञात कीजिये।


